1E PR PEHE GG R
(SF24F4 A 1H ~SF34E3H31H)

Bt H MR HIAEE i IR - A
[ —EBR R RO
1 BRI OE
(1) R4k
1) A =4 0 400,000 A 400,000
2) M= 12,572,000 11,857,000 715,000
M (ZEFESE) 114 111 3
4) ¥ B IERR FE DO IR AR 0 300,000 300,000
(40 EFL S EN)
5) 8 E LM EE D DO IRIREE 600,000 600,000 0
(EB T IME )
A VERS 13,172,114| 13,157,111 15,003
(2) #eH e H
1) H¥ER 10,674,534 13,976,279 A 3,301,745
(A2 3] (6,677,201] [7,770,539] [406,558]
[ZDfth D] [3,997,333] [6,205,740] [645,841]
2) &P 1,378,430 1,323,214 55,216
B R 12,052,964|  15,299,493| A 3,246,529
R G R 1,119,150 A 2,142,382 3,261,532
2 REHEAMNEROE
(1) #&H ML 0 0 0
P SV EA T 0 0 0
(2) REH ANV E 0 0 0
I 7 & PEBEFEE 0 0 0
SR R 0 0 0
R A e 0 0 0
U H— I B P HE R A 1,119,150 A 2,142,382 3,261,532
— R IERR I PE R 4,543,876 686,258 A\ 807,525
— e IR BR T RE R A 5,663,026 5A38T6[ A 2,142,382
0 FREIE MR PEHE I O
(1) 408 R LT 0 0 0
(1) FH T stifE & 3,600,000 4,200,000 A\ 600,000
A LA A AifE 4]
(2) — W IEBR A PE~D IR
40JEFRL R FET 0 0
HE AT 4 600,000 600,000 0
U Y T R S DR A\ 600,000 A 900,000 300,000
faE EM E ik 4,200,000 5,100,000 A\ 900,000
FaE R E R TR = 3,600,000 4,200,000 A\ 600,000
I BRI PE AR FR & 9,263,026 8,743,876 447,240




